1)

4
4
4
4
4
4
4
4
4
4
*

A A X AR X SR AR X AR X AR X SR XX AR X SR X SR X 4

*
®
*
®
*
®
*
®
*
*
*

AXAZ1—RFITXRTHAMIBERZO>THINET

RE&NY-c2J-c—- hwvk 2208/ 7122508
XEDMKY>I1E100 @35

EBDCER%ZE
HBAKCTET
50muP 2 n

<#0Y— 381kcal - #&5 3.69>

QRIS UASYF -ooovvvvvnnrieniinnnnn,
(XA -1\EX 2 - IRIET - FH—~-RUVY)
O\ IN—TEE (IS IRIEHD) -ooeeeeeee 1,250/
< A10Y — 869kcal - &4 4.0g >
OEZHETER (N5 R covveeeeennnn 1,150 M
<A0")—679%cal - 185 1.69>
S EADDER (N IRIETHT) -ooveeeeeeees 1,090
< A0 —983kcal - &5 2.5g>
‘Fiiﬁliﬁ (gk, U*\UEH‘{‘D °°°°°°°°°°°°°°°°°°°° 1,050 M BEBIA LI\ e, 920m BEDOMVEYIHL— - 820
<7ARY—913keal - 35} 2.69> <H0YU— 757keal - #85 4.1g> <H0Y— 603kcal - #4 3.0g>
O=ZVIRATSATER (I KIS oo 1,200/ + ~)7 e .
(TET54- iR BSf- H=U—L) < HOU—8l1keal - 15 21g> BIRFAIUTIRINGT 4= - 9201  CAYAL— o 1,030m
Pt 5 7@@ NG TRIESEAL) vevvevereererens 850m <#A0"—610kcal - 185 2.7g> < A0 — 890kcal - &5 3.2g>
< HOU— 576keal - 4 2.2g> FLYVICEZYSIR) ceereeeeeees 890 m
A0 — 45Tkeal - 54> 1.8
QS —XTEE (TER.INGED) ceoveererneennnnn. 950m[™ : “ 9
<A0Y— 697kcal - % 7.39> CERKEE 100mM
O ERNTEE BICETDNEHE)  cooeeeeennnnnnn 830M CERtEEE 1608
D3 <0 — 669kcal - 55 6.1g> 1DV < HOYU— 575kcal - 5 5.59> Gi?bwt":dn‘iaggmg B\ KE 200m UP!
80MAUP!
[
Q7Y HF RIEHL) cooeeeeeennee QEEIRNES & fy I ) ---es 890 GLETFTF ooovveeerireenn 80m
< A0 — 790kcal - 14> 3.99> < A0 — 492kcal - 1§45 3.0g> <A0Y— 76kcal - 14 0.2g>
QT (BR1E:HT) covveeerennnn. Y S D 7 A P 72081 OkkIEA e 150H
<A0A"Y—68Tkcal - #4 3.99> <#A0A"Y— 503kcal - #85 5.59> <A0")— 13kcal - #&% 0.99>
QFFH (k1 H1T) coeveeerennnns OHSH 2501 QHER ccoeeeeeeeeeeeieeeens 190mH
<A08Y—591kcal - &5 3.8g9> <#A8Y— 74kcal - #&45 0.4g9> <#AAY—302kcal - &5 0g>
QEODRDIER e OEHDIEE --ooveveeeeennienn 200m OBICEDTIE oo 140H
<#08"Y— 475kcal - 59 4.3g> <7/1A"Y— 25kcal - #&5 0.5g> <5HAY— 169kcal - &% 1.3g>
ODODBDIER e



